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Chapter 12:

7. The greenhouse effect keeps the surface of Earth warm, and Venus hot, by reflecting and absorbing infrared radiation, and allowing other forms of radiation to pass through.

12. There is a very high concentration of Sulfur compounds in the Venusians atmosphere which indicate recent volcanic eruptions. Also there are very large volcanoes on Venus’s surface, which are apparently young.

15. Venus’s water long ago evaporated as the temperature of Venus rose above the boiling/sublimation temperature at the given atmospheric pressure. This water was probably bombarded with ultraviolet radiation which ejected the hydrogen atom which would probably soon leave the atmosphere given it’s relative density, and higher velocity for the average kinetic energy(temperature).


17. On Venus today there is an incredible abundance of greenhouse gasses, so high that CO2 is boiled directly out of the crust. This CO2 remains in the atmosphere permanently in such thick concentrations, that it will take many years for specialized self replicating nanotechnology, to package and ship enough of the carbon and oxygen to help build free space colonies for trillions. Around 90 atmospheres of CO2 cause the surface temperatures to remain around 733K. When the critical mass of the greenhouse runaway was reached, the atmosphere had relatively low concentrations of greenhouse gases compared to now, which would cause an effect just hot enough to boil the water on the surface into the atmosphere.

18. The Venusians surface is covered entirely with ingenious rocks. There is no water, or plate dynamics, so the surface is defined entirely by volcanic activity. Volcanoes dominate the horizon, and lava flows extend for hundreds of kilometers in many locations.
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6. Mars has a great deal of craters on the surface, which is both a tribute to relatively inactive geological systems, no rainfall, or a great amount of volcanic activity. All these factors have also been observed on Mars.

11. That crust at the northern lowlands are 30 km thinner than the southern highlands, although this does not line up with physical boundary between the different altitude land areas. Lack of mountain ridges and subduction zones indicate that Mars has 1 tectonic plate which covers the entire planet.

14. The temperate and pressure on the surface of mars makes it impossible for H2O to exist in it’s liquid form. If water existed in the past upon Mars then the temperature at the surface must have been much greater and Mars would also have had a greater atmosphere with higher levels of CO2 to sustain this temperature.

18. Because there is a higher density of CO2 on Venus than on Mars.

19. CO2 gets dissolved in water and chemical bonded to minerals, drawing it out of the atmosphere, causing the temperature to lower. When the temperature gets to a certain point the runaway icehouse effect comes into play, and the atmosphere becomes so cold that more CO2 freezes into the ground progressively amplifying the effect in a continuous chain reaction.

